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9.1
Procedures and parameters for peer-to-peer operation

A TBF is comprised of two peer entities which are RLC endpoints. Each RLC endpoint has a receiver that receives RLC/MAC blocks. Each RLC endpoint also has a transmitter that transmits RLC/MAC blocks.

Each endpoint's receiver has a receive window of size k (see subclause 9.1.9). In RLC acknowledged mode, the receive window is defined by the inequality  [V(R )-k  ( BSN <V( R)]modulo 128  (for the method of interpreting inequalities in this format refer to subclause 9.1.8), where the receive state variable V(R ) indicates BSN of the RLC/MAC block that follows the most recently received block. All BSNs which meet that criteria are valid within the receive window. A receive window state variable V(Q) is used to indicate the BSN of the first RLC/MAC block within this window that is not received.  In RLC unacknowledged mode, all values of BSN are within the receive window.

Each endpoint's transmitter has a transmit window of size k. In RLC acknowledged mode, the transmit window is defined by the send state variable V(S) in the following inequality: [ V(A) ( BSN < V(S) ] modulo 128, where [ V(S) - V(A) ] modulo 128 ( k. All BSNs which meet that criteria are valid within the transmit window. In RLC unacknowledged mode, all values of BSN are within the transmit window.
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